Bignosial
i1 Ta pamioHanbHI BUpa3u
1.a) 9x° — 30x° + 25x*; 0) 4x6 — x*; B) a’ — 4a + 4 — b*;

r)27m3 —n®  1)a®—x*+2x%y3 —y% 2.2)0; 0)2(y—4)(4y+ 3x — 1);
B) (x? — 2x + 5)(x? + 2x + 5); 1) (x —y)(a—y)a—x)(a+x+y).

3.a) (x3%2 + y3%); 6)x16 —xB8y8 +y16=3%-32.22 4+ 2% =61; B)24a® =81,

r) a = 2b, Tom Sa’—3ab _ 52°b’-32b7 _ 14, a=2b, tomy 22 =1
oo Yspb2ez2ab  sb2422b2 9 5! Yar = 73
3 x?-y? 5, . 2 4 ( 2)2 .

n)y = > X, TOMY > & e) 13. Braziexka. x° + =\ X + 4
. x*+36 62 . 2
€) 19. Brasisxa. — = (x — ;) + 12. 4.a) 4. Brazieka. 9x* + 6x + 5 =

=@Bx+1)2+4=>4; 06)1.Bxkasiéka. x> —2x+y*—4y+6=(x—1)%+
+(y—2)2+1=>1. 5. 5. Braziska. 5 — a? —2ab — b?> =5 — (a + b)? > 5;
6. a) Brasziska. 5x* + 4x + 1 = (2x + 1)? + x2 = 0; 0) Brasziexa.
x2=2xy+y: —4y+4x+4=(x—y+2)2 7.a)Brasiexa. —x* + 2x — 2 =
=—(x—-1)?-1<0; 0) Brasiexa. 2xy — x*> — 2y? + 2y — 3 =
=—(x—-y)i-(@w-1%*-2<0.



